Determine the phase shift for the function and the sketch the graph.

A) y:cos[_‘--%] B) _v::sin[.t+§}
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Determine the vertical shifi for the function and the sketch the graph.
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A) y=cosx—2 B) v=sinx+3
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Determine the vertical shift and phase shift of the function and then sketch the graph
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A) y=cos| x+— -1 B) y=sinj x—— |+2
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State the Amplitude and period of the sinusoid, and relative to the basic function, the

phase shift and vertical translation. ﬂmp:z- P&ﬂud"z"g- Dowa H -
A) yz3sin[,\‘—%)+2 B) y:_zcos(}_r_gj_‘;
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C)y=5sindm+6
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PRE-CALCULUS: by Finney, Demana, Watts and Kennedy
Chapter 4: Trigonometric Functions

4.5: 6raphs of Tan/(."or/&i:/c.rc

What you'll Learn About
* Thegraphs of the other 4 trig functions
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The graph of y = sec x
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Describe the graph of the function in terms of a basic trigonometric function. Locate
the vertical asymptotes and graph 2 periods of the function.

A) V= CSC(;?) B) v=4csc2mx
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